2026 Secondary 1 Suggested Stationery List

A: School Accessories / Writing Materials

Quantity	Description	Unit Price	Total	Tick
8	A4 School Single Line Exercise book	1.20	9.60	
2	A5 School Single Line Exercise book	0.70	1.40	
2	School Examination Pad	1.90	3.80	
1	Chinese Composition Pad (For G3/G2 Students)	1.90	1.90	
1	A5 Chinese Medium Square Exercise Book	0.70	0.70	
1	Graph Pad	2.00	2.00	
1	A4 Plastic File (10 Pcs)	8.00	8.00	
1	Report Book	4.80	4.80	
1	School Tie	7.50	7.50	
		Chinese Total:	39.70	
				_

B: School Mother Tongue Materials

1	Besta All Pass version 6 eDictionary (For G3/G2 Students) or	Ellton Ent	72.90	
1	新编学生实用词典	SAP	14.90	
	*Students can choose between hard copy or e-dictionary.			
1	Gloal Translator / Model M188 e-Dictionary (Kamus Bimbit Elektronik Riang Ria) (For G3/G2 Students) or	EDN-Media Consultant	NFY	
1	Kamus Dewan (Edisi Keempat) (For Express and NA Students)	Dewan Bahasa dan Pustaka	32.00	
	*Students can choose between hard copy or e-dictionary.			

Chinese Total: Malay Total:

Malay Total:

37.10

C : School Maths / Science Materials

1	Calculator (Model: Casio FX 97SG X)	34.50	34.50	
1	Oxford Set of Mathematical Instruments	6.90	6.90	
1	30 - cm Ruler	0.80	0.80	
			42.20	

D: School D & T / FCE Materials

1	D&T Apron	4.00	4.00	
1	D&T A3 Layout Pad	4.20	4.20	
1	D&T A3 Layout Pad Zipper Bag	4.00	4.00	
1	FCE Apron + Tea & Dish Towel + Hairnet	9.50	9.50	
		·	21.70	

F · School Art Material

L . School Al	t Material			
1	Customised Art@Dunearn A4 Sketch Book	8.90	8.90	
3	Staedtler Lumograph Drawing Pencils (2B, 4B, 6B)	1.20	3.60	
1	Kneadable Eraser	1.30	1.30	
1	Faber-Castell PL115858 48-pieces Classic Coloured Pencils	20.70	20.70	
1	SAKURA Identi Pen Twin, Black	1.90	1.90	
	·		36.40	

Total

Mode of Purchase: Walk-in purchase Place of Sale: School Bookshop

Dates of Sales	Class	Time
22 Dec 2025	1 Emerald	
(Mon)	1 Opal	8.30am to 3.30pm
	1 Sapphire	
23 Dec 2025 (Tue)	1 Topaz	8.30am to 3.30pm
	1 Ruby	
26 Dec 2025 (Fri)	1 Pearl	8.30am to 3.30pm
29 Dec 2025 (Mon)	1 Diamond	8.30am to 3.30pm

Closed on all Saturdays, Sundays, Public Holidays and Eve of Public Holidays

- Points to Note: 1. GST Reg No : M90370487Y
- 2. The above Textbooks & Stationeries will only be on Sale in the School Bookshop.
- 3. Please retain booklist as proof of purchase for any clarification / verification.
- 4. Please purchase your textbooks from the School Bookshop to ensure the correct Edition.
- 5. Please check your items before you leave the counter.
- 6. Please note that all items sold are not refundable for cash.
- 7. Mode Of Payment : Cash , PayNow, PayLah.

School Bookshop Supplier: D Y Education Service Trading

For any enquiry, call us at : 97845010 (Alice) / 91061391 (Office) Monday to Friday, Between 8.30am to 3.30pm

2026 Secondary 2 Suggested Stationery List

A: School Accessories / Writing Materials

Quantity	Description	Unit Price	Total	Tick
8	A4 School Single Line Exercise book	1.20	9.60	
2	A5 School Single Line Exercise book	0.70	1.40	
2	School Examination Pad	1.90	3.80	
1	Chinese Composition Pad (For G3/G2 Students)	1.90	1.90	
1	A5 Chinese Medium Square Exercise Book	0.70	0.70	
1	Graph Pad	2.00	2.00	
1	A4 Plastic File (10 Pcs)	8.00	8.00	
	•		07.40	

Chinese Total: 27.40
Malay Total: 24.80

B: School Mother Tongue Materials

1	Besta All Pass version 6 eDictionary (For G3/G2 Students only) or	Ellton Ent	72.90	
1	新编学生实用词典	SAP	14.90	
	*Students can choose between hard copy or e-dictionary.			
1	Gloal Translator / Model M188 e-Dictionary (Kamus Bimbit Elektronik Riang Ria) (For Express and NA Students) or	EDN-Media Consultant	NFY	
1	Kamus Dewan (Edisi Keempat) (For Express and NA Students)	Dewan Bahasa dan Pustaka	32.00	
	*Students can choose between hard copy or e-dictionary.			

Chinese Total: Malay Total:

C : School Maths / Science Materials

1	Calculator (Model: Casio FX 97SG X)	34.50	34.50	
1	Oxford Set of Mathematical Instruments	6.90	6.90	
1	Curved Ruler - Optional	4.20	4.20	
			45.60	

D : School D & T / FCE Materials

1	*D&T Apron	4.00	4.00	
1	*D&T A3 Layout Pad	4.20	4.20	
1	*D&T A3 Layout Pad Zipper Bag	4.00	4.00	
1	*FCE Apron + Tea & Dish Towel + Hairnet□	9.50	9.50	
	* Optional for those who already have the item		21.70	

E : School Art Material

E : School Art Material				
1	Customised Art@Dunearn A4 Sketch Book	8.90	8.90	
3	*Staedtler Lumograph Drawing Pencils (2B, 4B, 6B)	1.20	3.60	
1	*Kneadable Eraser	1.30	1.30	
1	*SAKURA Identi Pen Twin, Black	1.90	1.90	
1	Poster Colors in 30ml Glass Bottle, 6-color set	19.00	19.00	
1	Art Brush Set	10.50	10.50	
	* Optional for those who already have the item		45.20	

Total

Place of Sale: School Bookshop

Operating Hours	Level (2026)	Operating Dates :
8.30am to 3.30pm (Mon - Fri)	Sec 2	
	Sec 3	10th November to 5th December 2025
Bookshop Closed On Sat, Sun, Eve of Public Holidays & Public Holidays	Sec 4/5	

We are strongly encouraged parents to purchase the textbooks via the online bookshop platform. Website: https://dyeducation.net (Password: 668822). Home delivery fee is \$12.00. Orders will have to be placed by 5th December 2025. We will not be accepting any online orders after 5th December 2025.

Points to Note:

- 1. GST Reg No : M90370487Y
- 2. Please purchase your textbooks from the School Bookshop to ensure the correct Edition.
- ${\it 3. Please \ retain \ booklist \ as \ proof \ of \ purchase \ for \ any \ clarification \ / \ verification.}$
- 4. Please check your items before you leave the counter.
- 5. Please note that all items sold are not refundable for cash.
- 6. Mode Of Payment : Cash , PayNow, PayLah.

School Bookshop Supplier: D Y Education Service Trading
For any enquiry, call us at : 97845010 (Alice) / 91061391 (Office) Monday to Friday, Between 8.30am to 3.30pm

2026 Secondary 3 Suggested Stationery List

A : School Accessories / Writing Materials

Quantity	Description	Unit Price	Total	Tick
8	A4 School Single Line Exercise book	1.20	9.60	
2	A5 School Single Line Exercise book	0.70	1.40	
2	School Examination Pad	1.90	3.80	
1	Chinese Composition Pad (For Express and NA Students)	1.90	1.90	
1	Graph Pad	2.00	2.00	
1	A4 Book Keeping Pad (P.O.A Students only)	2.10	2.10	
1	A4 Plastic File (10 Pcs)	8.00	8.00	
1	32GB Thumbdrive (CPA Students Only)	13.10	13.10	

Chinese Total: Malay Total:

B: School Mother Tongue Materials

1	Besta All Pass version 6 eDictionary (For Express and NA Students) or	Ellton Ent	72.90	
1	新编学生实用词典	SAP	14.90	
	*Students can choose between hard copy or e-dictionary.			
1	Gloal Translator / Model M188 e-Dictionary (Kamus Bimbit Elektronik Riang Ria) (For Express and NA Students) or	EDN-Media Consultant	NFY	
1	Kamus Dewan (Edisi Keempat) (For Express and NA Students)	Bahasa dan Pustaka	32.00	
	*Students can choose between hard copy or e-dictionary.			

Chinese Total: Malay Total:

C: School Maths / Science Materials

5 : Concor matric / Colonic materials					
1	Calculator (Model: Casio FX 97SG X)	34.50	34.50		
1	Oxford Set of Mathematical Instruments	6.90	6.90		
1	Curved Ruler - Optional	4.20	4.20		
			45 60		

D : School D&T / NFS Materials

1	*NFS Apron + Tea & Dish Towel + Hairnet□	9.50	9.50	
1	*D&T Apron	4.00	4.00	
	* Optional for those who already have the item		13.50	

E : School Art Material (All Items are Compulsory for Art Students)

. Ochool Art material (All items are Compulsory for Art Students)			
1	Customised Art@Dunearn A4 Sketch Book	8.90	8.90	
3	Staedtler Lumograph Drawing Pencils (2B, 4B, 6B)	1.20	3.60	
1	Kneadable Eraser	1.30	1.30	
1	OMNI Acrylic Colour Tube 6X45mis	15.50	15.50	
1	SAKURA Identi Pen Twin, Black	1.90	1.90	
1	A3 Drawing Block 120g	2.80	2.80	
1	A3 Black 20 Pockets Clear Folder for Drawing Block	7.90	7.90	
			41.90	

Total

Place of Sale: School Bookshop

Operating Hours	Level (2026)	Operating Dates :
8.30am to 3.30pm (Mon - Fri)	Sec 2	
	Sec 3	10th November to 5th December 2025
Bookshop Closed On Sat, Sun, Eve of Public Holidays & Public Holidays	Sec 4/5	

We are strongly encouraged parents to purchase the textbooks via the online bookshop platform.

Website: https://dyeducation.net (Password: 668822). Home delivery fee is \$12.00.

Orders will have to be placed by 5th December 2025. We will not be accepting any online orders after 5th December 2025.

- Points to Note: 1. GST Reg No : M90370487Y
- 2. Please purchase your textbooks from the School Bookshop to ensure the correct Edition.
- 3. Please retain booklist as proof of purchase for any clarification / verification.
- 4. Please check your items before you leave the counter.
- 5. Please note that all items sold are not refundable for cash.
- 6. Mode Of Payment: Cash, PayNow, PayLah.

School Bookshop Supplier: D Y Education Service Trading

For any enquiry, call us at : 97845010 (Alice) / 91061391 (Office) Monday to Friday, Between 8.30am to 3.30pm

2026 Secondary 4 & 5 Suggested Stationery List

A: School Accessories / Writing Materials

Quantity	Description	Unit Price	Total	Tick
8	A4 School Single Line Exercise book	1.20	9.60	
2	A5 School Single Line Exercise book	0.70	1.40	
2	School Examination Pad	1.90	3.80	
1	Chinese Composition Pad (For Express and NA Students)	1.90	1.90	
1	Graph Pad	2.00	2.00	
1	A4 Book Keeping Pad (P.O.A Students only)	2.10	2.10	
1	A4 Plastic File (10 Pcs)	8.00	8.00	
1	32GB Thumbdrive (CPA and Art Students Only)	13.10	13.10	
2	32GB Thumbdrive (NFS and D&T Students Only)	13.10	26.20	

Chinese Total: Malay Total:

B :	School	Mother	Tongue	Materials
------------	--------	--------	--------	-----------

1	Besta All Pass version 6 eDictionary (For Express and NA Students) or	Ellton Ent	72.90	
1	新编学生实用词典	SAP	14.90	
	*Students can choose between hard copy or e-dictionary.			
1	Gloal Translator / Model M188 e-Dictionary (Kamus Bimbit Elektronik Riang Ria) (For Express and NA Students) or	EDN-Media Consultant	NFY	
1	Kamus Dewan (Edisi Keempat) (For Express and NA Students)	Bahasa dan Pustaka	32.00	
	*Students can choose between hard copy or e-dictionary.			

Chinese Total: Malay Total:

C: School Maths / Science Materials

1	Calculator (Model: Casio FX 97SG X) - Optional	34.50	34.50	
1	Oxford Set of Mathematical Instruments - Optional	6.90	6.90	
1	Curved Ruler - Optional	4.20	4.20	
			45.60	

Place of Sale: School Bookshop

Operating Hours	Level (2026)	Operating Dates :
8.30am to 3.30pm	Sec 2	
(Mon - Fri)		
	Sec 3	10th November to 5th December 2025
Bookshop Closed On Sat, Sun, Eve of		
Public Holidays &	Sec 4/5	
Public Holidays		

We are strongly encouraged parents to purchase the textbooks via the online bookshop platform.

Website: https://dyeducation.net (Password: 668822). Home delivery fee is \$12.00.

Orders will have to be placed by 5th December 2025. We will not be accepting any online orders after 5th December 2025.

- Points to Note: 1. GST Reg No : M90370487Y
- 2. Please purchase your textbooks from the School Bookshop to ensure the correct Edition.
- 3. Please retain booklist as proof of purchase for any clarification / verification.
- 4. Please check your items before you leave the counter.
- 5. Please note that all items sold are not refundable for cash.
- 6. Mode Of Payment: Cash, PayNow, PayLah.

School Bookshop Supplier: D Y Education Service Trading

For any enquiry, call us at : 97845010 (Alice) / 91061391 (Office) Monday to Friday, Between 8.30am to 3.30pm